MUNICIPAL CORPORATION KOTA-SOUTH, K

Remove Watermark

Completion Period :- 01 Month

Rs. 5955/-Rs. 23820/-

: 16-08-2022 to 25-08-2022

: 16-08-2022 to 25-08-2022

: 26-08-2022 (05:00 PM)

: 26-08-2022 (Upto 02:00 PM)

: तकनिकी बिड परीक्षण के पश्चात



(NIT NO. 15/2022-23) ('G' Schedule Item) (Co.

Name of Work:- राष्ट्रीय मेला दशहरा वर्ष 2022 के अवसर पर दशहरा मैदान परिसर में स्थित टॉयलेट ब्लॉक में ड्रेनेज सिस्टम एवं आवश्यक मरम्मत / निर्माण कार्य।

Estimated Cost:- Rs. 11.91 Lacs

Tender Cost:- Rs. 1000/-

Processing Fees:- Rs. 500/-

Earnest Money:- 0.50%

2.00%

Date of Sale of Tender (Website)

Date of Sale of Tender

Date of Receipt EMD/Tender/Possessing Fees

Date of Opening Technical BID

Date of Opening Financial BID

Issued

To:

C.R. No. Date

Rate Based on PWD BSR 2013 and RUIDP SOR 2017 & Non BSR or SOR Item

S.N.	Description	Qty	Unit	Rate	Amount
	Earth Work in excavation in foundation trenches or drains				
	including dressing of sides and ramming of bottoms, lift upto 1.5				
1	mtr. including taking out the excavated soil and depositing and				
	refilling of jhiri with watering and ramming and disposal of surplus				
	excavated soil as directed within a lead of 50mtr. All kinds of soil	190.05	Cum	152.00	28887.60
	Dismantling stone rubble masonry including stacking of serviceable				
2	material and disposal of unserviceable material within 50 meters				
	lead. In cement mortar.	20.00	Cum	392.00	7840.00
3	Demolishing cement concrete including disposal of material within				
3	50 meters lead: 1:3:6 richer mix.	95.03	Cum	388.00	36871.64
	Providing and laying in position cement concrete etc. complete in				
4	specified grade excluding the cost of centering and shuttering – All				
-	work upto plinth level 1:3:6 (1 cement : 3 coarse sand : 6 graded				
	stone aggregate 20 mm niminal size)	31.68	Cum	2803.00	88799.04
5	Finishing with neta cement (punning)	100.00	Sqm	20.00	2000.00
	Providing and fixing 1st quality standard white/ivory, grey, fuma				
	red brown. Light green, light blue and other light shades glazed				
	tiles of ISI marked (IS: 13753) of size 300mm x 200 mm in walls,				
	floors, steps, pillars etc. laid on a bed of neat cement slurry finished				
6	with flush pointing in white tile complete (excluding the cost of				
	cement plaster on walls & pillars) category – 1 : malaria, Johnson,				
	using coloured dark shade tiles instead of white/ ivory/light				
	grey/sky blue/light drown and ether light shade coloures.	237.65	Sqm	633.00	150432.45
	P&F beveled edge mirror of special glass of aaproved make				
7	(Atul/equivalent) complete with 6mm thick asbestors cement sheet				
7	ground fixed to wooden screws & washers. size 600 x 450 mm x 4				
	mm thick	20.00	Nos	304.00	6080.00

	Providing and laying in position including curing, compaction etc.		Remove Watermark		Wondershar	
8	complete in specified grade excluding the cost of centering and		Kelliove	Watermark	PDFelement	
	shuttering - All work up to plinth level. 1:1.5:3 (1 cement: 1.5					
	coarse sand : 3 graded stone aggregate 20 mm nominal size)	20.00	Cum	3711.00	74220.00	
	Providing and fixing 15 to 20 mm thick granite stone mirror					
	polished and machine edge cut in walls, pillars, steps, shelves, sills					
	Counters, floors etc. laid on 12 mm (Av) thick base of cement					
9	mortar 1 : 3 (1 cement : 3 coarse sand) jointing with white cement					
	mortar 1 : 2 (1 white cement : 2 marble dust) with pigment to					
	match the shade of the granite slab complete including rubbing and	89.00	Sqm	2498.00	222322.00	
	polishing of: Brick masnory in founfdation and plinth with bricks of class		Sqiii	2498.00	222322.00	
10	designation 75 in cm 1:6	15.00	Cum	2942.00	44130.00	
	Add extra over item no. 12 (BSR No. 5.21 & 5.22) for brick work					
11	in super structure upto third storey.	15.00	Cum	255.00	3825.00	
	Plaster on new surface on walls in cement sand mortar 1:4					
12						
	including racking of joints etc. complete fine finish. 20 mm thick	138.00	Sqm	120.00	16560.00	
13	Transportation of excavation of earth from site with loading and				10100.00	
	unloading etc. complete with all lead and lift. Lead 5 km.	200.00	Cum	90.90	18180.00	
	P & F Ist quality WVC urinal (IS:2556 mark) with 25 mm dia G.I.	.0				
14	based pipe, dome coupling cancel iron brackets or screws etc.					
	complete: Flat back (large) or half stall size 590 x 375 x 390mm.	10.00	Nos	2463.00	24630.00	
	P & F Indian type white glazed white glazed vitreous china 1st		1,00	2103.00	2.050.00	
	quality W.C. Orissa pan (IS: 2556 mark) with 100 mm vitreous					
15						
	china P or S trap including cutting and making good the wall and					
	floor (excluding the pair of root rest): size 580 x 440 mm	10.00	Nos	1631.00	16310.00	
	Providing and fixing European type white glazed vitreous china 1st					
	quality W.C. (IS:2556 mark) including cutting and making good					
16	the wall and floor. Wall Mounting Providing and fixing of water					
	closet seat covers with brass hinges complete: Solid PVC (ISI					
	marked) grade-I White for EWC. Wall mounting (Extended)	5.00	Nos	3696.00	18480.00	
	P & F low level flushing cistern of 10 litres capacity (IS:2556					
	mark) of approved make with complete fittings, C.I. brackets duly					
17	painted, brass ball cock with ball, (IS:1703 mark) complete					
	including cutting and making good the wall: PVC with PVC bend					
	as per IS:7231	30.00	Nos	1125.00	33750.00	
	P&F WVC wash basin (Ist quality IS: 2556 mark) of approved					
	make with C.I. brackets duly painted, 1 No. 15mm C.P. pillar cock					
18	(IS: 8934 mark) & 32 mm C.P. brass waste coupling of approved					
	make, 25mm G.I. waste pipe complete including cutting and					
	making good the wall: Size 630x510mm with anti splash Rim.	4.00	Nos	1392.00	5568.00	
10	P & F PVC storage Tank conforming to IS (12701/89) standard of					
19	approved make with cov. 1000 litres capacity.	5.00	Nos	6750.00	33750.00	
20	Providing and fixing marble urinal partition slab both size polished					
	of approved design cut from marble size 900 x 600mm. Makrana II					
	quality marble having light spot.	20.00	Nos	1007.00	20140.00	
21	1.0 mm thick salem stainless steel AISI-304 kitchen sink of					
21	approved make (Nirali, Neel-kanth, Jaina, Faber, Criystle) with		Neg	2124.00	6268.00	
<u> </u>	large waste coupling IS 13983-1994.	2.00	Nos	3134.00	0208.00	

re

22	Providing and fixing Waste Pipe with all fittings, PVC with C.P.						
22	nut 32 mm	50.00	Remove	Watermark	Wondershar PDFelement	е	
	Providing and fixing Towel Rail of Ring of approved quality /				1 Di didilidili		
23	make. C.P. brass Towel rail elbow type with concealed screws size						
	600 mm (Heavy Duty).	10.00	Nos	437.00	4370.00		
24	P & F Soap Dish or Tray of Approved quality / make. C.P. brass (
	Heavy & Superior Quality)	10.00	Nos	86.00	860.00		
	P & F Inlet Connection (angle, valves) superior quality of approved						
25	make. For wash basin gyser etc. C.P. Inlet connection 15 mm Brass						
	(IS: 8931 Marked)	5.00	Nos	594.00	2970.00		
	Providing and fixing rigid pvc pipe (IS: 4985 mark) class II (4						
26	kg/cm2) approved quantity/make including joiting the pipe with						
	solvent cement rubber ring and lubricant. 75 mm Dia	100.00	Mtr	137.00	13700.00		
	Providing and fixing rigid pvc pipe (IS: 4985 mark) class II (4						
27	kg/cm2) approved quantity/make including joiting the pipe with						
	solvent cement rubber ring and lubricant. 110 mm Dia	100.00	Mtr	216.00	21600.00		
	Providing and fixing rigid pvc pipe fitting (IS: 4985 mark) of						
20							
28	approved quality/make including joiting the pipe with solvent						
	cement rubber ring and lubricant. Bend 87.5 degree (75 mm Dia)	10.00	Nos	80.00	800.00		
	Providing and fixing rigid pvc pipe fitting (IS: 4985 mark) of						
20							
29	approved quality/make including joiting the pipe with solvent						
	cement rubber ring and lubricant. Bend 87.5 degree (110 mm Dia)	10.00	Nos	130.00	1300.00		
	Painting with enamel paint of approved brand and manufacture to						
30		2)					
	give an even shade. : Two or more coats on new work	150.00	Sqm	46.00	6900.00		
31	Ornamental cement plaster in cement sand mortar 1:4 making						
31	kangooras etc. as per Jaipur practice.	100.00	Sqm	283.00	28300.00		
	P&F Sand-Cast Iron (S.C.I.) Pipe (IS:1729 mark) of approved						
	make in wall or in floor with M.S. holder bat clamps in						
32	10×10×10cm M-15 grade concrete blocks, joints filled with CM						
	1:4 with spun yarn including cutting holes and making good the				• • • • • • • • • • • • • • • • • • • •		
	wall : 100 mm Dia	50.00	Rmt	520.00	26000.00		
	Providing laying & jointing glazed SW pipes grade 'A' (IS:651						
	marked) of approved make with spun yarn & stiff mixture of						
33	cement mortar 1:1 excavation & refilling of earth in all types of soil						
	upto 1.2m depth, SW fittings, including testing of joints etc.		.	207.00	20025 00		
	complete. 150 mm Dia	75.00	Rmt	387.00	29025.00		
2.4	P&F flush cock/Flush valve (IS:9758 mark) for W.C. of approved						
34		10.00	NT.	70 (00	7260.00		
	quality make: C.P. brass exposed 25mm nominal bore	10.00	Nos	726.00	7260.00		
25	P&F flush cock/Flush valve (IS:9758 mark) for W.C. of approved						
35		10.00	NIc-	240.00	2400.00		
-	quality make: C.P. brass exposed 15mm nominal bore	10.00	Nos	349.00	3490.00		
36	P&F Bib cock (IS:8931 mark), superior quality of approved make:	50.00	Nica	702.00	30150.00		
	C.P. brass swan-neck 15mm nominal bore	50.00	Nos	783.00	39150.00		
27	Providing and fixing shower arm 15 mm dia of approved						
37	quality/make. C.P. brass heavy & superior quality 150mm		Nos	145.00	2175.00		
	projection Providing and fixing bath shower of approved quality/make C.P.	15.00	INUS	145.00	21/3.00		
38		15.00	Nos	106.00	1590.00		
	Brass fixed P&F jet spray for water closet with C.P. copper tube flange of		1108	100.00	1390.00		
39	approved make.	100.00	Nos	290.00	29000.00		
	рарргочей шаке.	100.00	1105	290.00	27000.00		

	Providing and fixing 3 layer PP-R (Poly propylene Random copolymer) pipes SDR 7.4 U V stabilized & anti - microbial fusion		Remove Watermar		Wondershar PDFelement		
	welded, having thermal stability for hot & cold water supply			\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		PDreiement	
	including all PP - R plain & brass threaded polypropylene random						
40	fittings i/c fixing the pipe with clamps at 1.00 m spacing. This						
	includes the cost of cutting chases and making good the same						
	including testing of joints complete as per direction of Engineer in						
	Charge. Concealed work including cutting chases and making good						
	the walls etc., (PN - 16 Pipe, 16 mm OD)	80.00	Mtr	269.00		21520.00	
	Providing and fixing 3 layer PP-R (Poly propylene Random			207.00			
	copolymer) pipes SDR 7.4 U V stabilized & anti - microbial fusion						
	welded, having thermal stability for hot & cold water supply						
	including all PP - R plain & brass threaded polypropylene random						
41	fittings i/c fixing the pipe with clamps at 1.00 m spacing. This						
	includes the cost of cutting chases and making good the same						
	including testing of joints complete as per direction of Engineer in						
	Charge. Concealed work including cutting chases and making good						
	the walls etc., (PN - 16 Pipe, 20 mm OD)	80.00	Mtr	279.00		22320.00	
	Providing and fixing 3 layer PP-R (Poly propylene Random						
	copolymer) pipes SDR 7.4 U V stabilized & anti - microbial fusion	.01					
	welded, having thermal stability for hot & cold water supply						
	including all PP - R plain & brass threaded polypropylene random	X					
42	fittings i/c fixing the pipe with clamps at 1.00 m spacing. This						
	includes the cost of cutting chases and making good the same	0					
	including testing of joints complete as per direction of Engineer in						
	Charge. Concealed work including cutting chases and making good						
	the walls etc., (PN - 16 Pipe, 32 mm OD)	80.00	Mtr	341.00		27280.00	
	Providing and fixing 3 layer PP-R (Poly propylene Random						
	copolymer) pipes SDR 7.4 U V stabilized & anti - microbial fusion						
	welded, having thermal stability for hot & cold water supply						
	including all PP - R plain & brass threaded polypropylene random						
43	fittings i/c fixing the pipe with clamps at 1.00 m spacing. This						
	includes the cost of cutting chases and making good the same						
	including testing of joints complete as per direction of Engineer in						
	Charge. Concealed work including cutting chases and making good						
	the walls etc., (PN - 16 Pipe, 32 mm OD)	80.00	Mtr	447.00		35760.00	
	TOTAL			G		191013.73	
				Say as		11.91 Lacs	

Terms & Conditions:-

- 1. Conditional tender shall not be accepted.
- 2. In case of any error in rates or nomenclature, the same shall be paid as per PWD BSR 2013 & Non BSR Item Item.
- 3. निविदाओं में भाग लेने वाले संवेदक / फर्मो द्वारा जमा की जाने वाली टेण्ड्र फीस एवं धरोहर राशि के डी.डी. आयुक्त नगर निगम कोटा—दक्षिण के नाम एवं प्रोसेसिंग फीस (MD RISL) जयपुर के नाम देय होगी। उक्त निविदा शुल्क / प्रोसेसिंग शुल्क / धरोहर राशि के डी.डी. नियत समय में जमा कराया जाना होगा।
- 4. कार्य के विलम्ब की स्थिति में गुणावगुण के आधार पर अनुबन्ध में निहित अधिकतम दर तक शास्ती लगाई जा सकेगी।
- 5. संवेदक कार्य प्रारम्भ करने से पूर्व, कार्य के दौरान एवं कार्य समाप्ति कार्य स्थल के फोटोग्राफ प्रस्तुत करने होंगे एवं कार्य स्थल पर सूचना बोर्ड स्वयं के खर्चे पर लगाना होगा।
- 6. संवेदक कार्य प्रारम्भ करने से पूर्व संबंधित सहायक / कनिष्ठ अभियन्ता, संबंधित वार्ड पार्षद / जन प्रतिनिधि को सूचित करेगा एवं उनके सामने गुणवत्ता रिपोर्ट हेतु सेम्पल लिया जाना सुनिश्चित करेंगे।

7. न्यूनतम मजदूरी एक्ट एवं श्रम कानूनो की पालना किया जाना अनिवार्य होगा।

Remove Watermark Wondershare PDFelement

8. निर्माण कार्यो में नियोजित श्रमिको का कर्मचारी भविष्य निधि योजना के अन्तर्गत पंजीयन करना त विभाग (ई.पी.एफ.ओ.) से अदेयता प्रमाण पत्र कार्य के अन्तिम बिल के साथ प्रस्तुत करना होगा।

- 9. कार्य सम्पादन प्रतिभूति / सुरक्षा निधि की वापसी अनुबन्ध की शर्त संख्या 37 के अनुसार होगी।
- 10. तृतीय पक्षकार टेस्ट रिपोर्ट प्रत्येक बिल के साथ अधिशाषी / सहायक अभियन्ता से प्रमाणित करा कर प्रस्तुत करनी होगी।
- 11. संवेदक द्वारा निष्पादित किये जाने वाले अनुबन्ध में यह तथ्य भी स्पष्ट रूप से उल्लेख करेगा कि पी.एफ. और ई.एस.आई. विभाग के किसी प्रकार के दायित्व सुजित होते है तो उसकी समस्त जिम्मेदारी संवेदक की होगी।
- 12. वित्त विभाग की अधिसूचना दिनांक 22.10.2021 अनुसार आर.टी.पी.पी. नियम 2013 Additional Performance Security के लिये नियम 75 ए जोड़ा गया है। Work Performance Guarantee के रूप में कार्य आदेश जारी करने से पूर्व ली जावेगी तथा इसे कार्य के संतोषजनक रूप से पूर्ण होने के पश्चात् निर्धारण दोष निवारण अविध के उपरान्त कार्य की स्थिति संतोषजनक पाये जाने पर ही संवेदक को रिफन्ड की जावेगी।
- 13. तकनिकी बिड खोलने की तिथि पर किसी भी कारण वश अवकाश होने पर आगामी कार्य दिवस पर प्राप्त व खोली जावेगी।
- 14. संवेदक निविदा से संबंधित निविदा शुल्क / प्रोसेसिंग शुल्क / धरोहर राशि के डी.डी. इत्यादि फर्म के नाम से बनवाये।
- 15. निविदा में भाग लेने वाले संवेदको को निविदा शुल्क / प्रोसेसिंग फीस / धरोहर राशि के डी.डी. / ऑन लाईन जमा रसीद की प्रति अनिवार्य रूप से नगर निगम कोटा—दक्षिण कोष में जमा करना होगा जो कि वापस नहीं किये जायेंगे।
- 16. सम्पूर्ण निविदा प्रक्रिया आरटीपीपी एक्ट 2012 एवं नियम 2013 के अधीन होगी।
- 17. संवेदक को नियोजित श्रमिको का कर्मचारी भविष्य निधि योजना के अन्तर्गत पंजीयन करना तथा पी.एफ. एवं ई.एस.आई. करा कर संबंधित विभाग (ई.पी.एफ.ओ.) से अदेयता प्रमाण पत्र कार्य के अन्तिम बिल के साथ प्रस्तुत करना होगा।
- 18. संवेदक को तकनिकी बिड में पी.एफ. एवं ई.एस.आई के रजिस्ट्रेशन की प्रति संलग्न करनी होगी।
- 19. नगरीय विकास एवं आवासन विभाग राजस्थान सरकार द्वारा जारी आदेश क्रमांक प.01 (24) नविवि / । / 2020 लूज जयपुर दिनांक 20.09.2021 अनुसार विकास कार्यो की निविदाओं में संवेदको द्वारा बी.एस.आर. दर से कम डालने पर अन्तर राशि (AT PAR की दर से जितनी कम है) वर्क परफोरमेंस गारन्टी के रूप में कार्यादेश जारी होने से पूर्व जमा करानी होगी।
- 20. अनुबन्ध करने में असमर्थ रहने अथवा कार्य करने में असमर्थ रहने पर नियमो के अन्तर्गत आपकी रिस्क एण्ड कोस्ट पर नगर निगम को कार्य करने का / जमा योग्य अर्नेस्ट मनी की शास्ती लगाने की कार्यवाही करने का नगर निगम को अधिकार सुरक्षित रहेगा।

I / We hereby agree	to execute the work:
---------------------	----------------------

At the Rate		% Above/Below (in words)
At the Rate		%Above/Below (in Figures)
Signature of Contractor		Executive Engineer Municipal Corporation Kota South
	/	<u>रूप—</u> एरहेड)

सहमति-पत्र

श्रीमान अधिशाषी अभियन्ता, नगर निगम कोटा—दक्षिण।

विषय: अपनी निविदा हेतु सहमति के संबंध में। प्रसंग: निविदा क्रमांक.....

Wondershare PDFelement

विषयान्तर्गत निवेदन है कि मैं सत्यनिष्ठा पूर्वक अपनी निम्न सहमति प्रस्तुत कर

- (1) निविदा प्रपत्र पर मेरे स्वयं के हस्ताक्षर है।
- (2) निविदा दर स्वयं मेरे द्वारा भरी गई है।
- (3) मेरे द्वारा प्रस्तुत रजिस्ट्रेशन मेरा स्वयं का है एवम् पूर्णतया वैध है।
- (4) कार्य मेरे द्वारा ही सम्पादित किया जायेगा एवं इसे Sublet नहीं किया जायेगा।
- (5) किसी भी प्रकार की गलत जानकारी के लिये मैं स्वयं उत्तरदायी रहूँगा।

दिनांक :			··		
ादनाकः :		(हस्ताक्षर	स्रवदक	मरा व	साल।
14 114 .	***************************************	10:1111911	11444	119	11111

